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The Derivative of the Inverse Tangent Function
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Argument of a Complex Number (1)
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Argument of a Complex Number (2)
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Magnitude Response : G(s) = 1 / (s + 3)

x = linspace(-5, +5, 100);
y = linspace(-5, +5, 100);
[xx yy] = meshgrid(x, y);
z =  1 ./ (xx+3 + i*yy);
mesh(xx, yy, abs(z))

mesh(xx, yy, log10( abs(z)) )
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Magnitude & Phase Response : G(s) = 1 / (s + 3)
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mesh(xx, yy, log10( abs(z)) ) mesh(xx, yy, arg(z) )
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Log-log Scale Response : G(s) = 1 / (s + 3)

x y 

z 

set(gca, 'xscale', 'log', 'yscale', 'log', 
'zscale', 'log')

set(gca, 'xscale', 'log', 'yscale', 'log')
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